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Reasoning Mock Test For Railway Exams
P is father of R but R is not his son. T is daughter of R. U is

spouse of P. Q is brother of R. S is son of Q. V is spouse of Q.

W is father of V. Who is the maternal grandfather of S?

P, R का पिता है लेककन R उसका िुत्र नह ीं है। T, R की िुत्री 
है। U, P की ित्नी है। Q, R का भाई है। S, Q का िुत्र है। V, 
Q का ितत है। W, V का पिता है। S का नाना कौन है?

(A) W

(B) R

(C) P

(D) Can't be determined



Reasoning Mock Test For Railway Exams
In each of the following question select

the related letters/words out of given

alternatives.

तनम् न में से प्रत् येक प्रश् न में सींबींधित
अक्षरों/शब् दों चुतनए ?

KQ: 180: : HV : ?

(A) 221

(B) 161

(C) 191

(D) 181



Reasoning Mock Test For Railway Exams

Select the odd one out from the given

alternatives.

ददए गए पिकल् िों में से पिषम को चुतनए ?

(A) BCDE 2

(B) HILO 4

(C) PSTX 12

(D) JKMN 2



Reasoning Mock Test For Railway Exams
What will be the number on the face opposite to the

side having '1'?

‘1’ को प्रदर्शित करने िाले भाग के पििर त भाग िर कौनसी
सींख्या आएगी?

(A) 3

(B) 6

(C) 2

(D) 4



Reasoning Mock Test For Railway Exams
Identify the number that does NOT belong in

the given series.

उस सींख्या की िहचान करें जो द गई श्रींखला से
सम्बींधित नह ीं है।

0, 6, 24, 60, 120, 216

(A) 6

(B) 216

(C) 60

(D) 120



Reasoning Mock Test For Railway Exams
Seema walks to her office. She is facing south when she

reaches her office. After starting from home she turned left

twice and then right before reaching her office. Which

direction was Seema facing when she started from her home?

सीमा अिने कायािलय के र्लए चलती है। िह दक्षक्षण का मुख
ककये हुए है जब िह अिने कायािलय िहुींचती है। घर से चलना
शरुू करने के बाद, िह दो बार बाएीं मुड़ी और किर कायािलय
िहुींचने से िहले दाएीं मुड़ी। सीमा ककस ददशा की ओर मुख ककये
हुए थी जब िह अिने घर से चलना शरुू की?

(A) South

(B) East

(C) North

(D) West



Reasoning Mock Test For Railway Exams
Select the missing number from the given response.

ददए गए पिकल् िों में से लुप् त अींक ज्ञात कीजजए |

21 3 ? 147

42 7 6 252

6 3 2 12

12 3 4 48
(A) 6

(B) 7

(C) 8

(D) 9



Reasoning Mock Test For Railway Exams
Aman started from his school, walks 11 m towards the north then takes a 

right turn and walks 9 m after that he takes right turn again, walks 17 m 

and stops at his house. Rajat also starts from the same School, walks 14 m 

towards the south, then takes a left turn and walks 15 m before stopping 

at his house.

अमन अिने स्कूल से चलना शुरू करता है, 11 मीटर उत्तर की ओर चलता 
है, किर दायें मुड़ता है और 9 मीटर चलता है उसके बाद िह किर से दायें 
मुड़ता है, 17 मीटर चलता है और अिने घर िर रुक जाता है। रजत भी उसी 
स्कूल से चलना शुरू करता है, दक्षक्षण की ओर 14 मीटर चलता है, किर बाएीं 
मुड़ता है और अिने घर िर रुकने से िहले 15 मीटर चलता है।
What is the direction of school with Respect to  Aman’s house?
अमन के घर के सींबींि में स्कूल की ददशा क्या है?

(A) Southwest

(B) Northwest

(C) North

(D) Southeast



Reasoning Mock Test For Railway Exams

Which letter-cluster will replace the question mark

(?) in the following series?

उस अक्षर समूह का चयन करें जो तनम्नर्लखखत
श्रींखला में प्रश्न धचन्ह (?) के स्थान िर आएगा|

GXB, JVD, MTF, PRH,?

(A) RPJ

(B) SPJ

(C) SQJ

(D) RQI



Reasoning Mock Test For Railway Exams
Three of the following four letter-clusters are alike in a

certain way and one is different. Find the odd one out.

तनम्नर्लखखत चार अक्षर समूहों में से तीन एक तनजश्चत
तर के से एक समान हैं और एक अलग है। पिषम अक्षर
समूह का चयन करें।

(A) MOQSU

(B) EGIKM

(C) NPRTV

(D) IKLPS



Reasoning Mock Test For Railway Exams

Statementकथन
Should all education be made free for girls and women of all ages in India?

क्या भारत में सभी उम्र की लड़ककयों और मदहलाओीं के र्लए सभी र्शक्षा मुफ्त 
कर द  जानी चादहए?
Arguments तकि
I, No, this will weaken our present social structures.

नह ीं, यह हमारे ितिमान सामाजजक ढाींचे को कमजोर करेगा।
II. Yes, this is the only way to bring back glory to Indian women hood.

हााँ, भारतीय नार  के गौरि को िािस लाने का यह  एकमात्र तर का है।



Reasoning Mock Test For Railway Exams
Select the option that is related to the third

number in the same way as the second

number is related to the first number.

उस पिकल्ि का चयन करें, जो तीसर सींख्या से
उसी प्रकार सींबींधित है जजस प्रकार से दसूर 
सींख्या, िहल सींख्या से सींबींधित है।

4262: 4271: : 2139 : .?.

(A) 2346

(B) 7132

(C) 9521

(D) 2572



Reasoning Mock Test For Railway Exams
Study the following question carefully and choose the right answer.

तनम्नर्लखखत प्रश्न का ध्यानिूििक अध्ययन करें और सह  उत्तर का चयन करें।
Statements

H > S ≥ F = B < U < T ,  E ≤ B ≤ K

Conclusions

I. K > H

II. K = H



Reasoning Mock Test For Railway Exams
Pointing to a girl in the picture, Salman said, “Her

mother’s brother is the only son of my mother’s

father.” How is the girl’s mother related to Salman if

the girl is not the real sister of Salman?

तस्िीर में एक लड़की की ओर इशारा करते हुए, सलमान
ने कहा, "उसकी मााँ का भाई मेर मााँ के पिता का
इकलौता बेटा है।" यदद लड़की सलमान की सगी बहन
नह ीं है तो लड़की की मााँ का सलमान से क्या सींबींि है?

(A) Sister

(B) Aunt

(C) Grandmother

(D) None



Reasoning Mock Test For Railway Exams
Select the missing number from the given alternatives.

ददए गए पिकल्िों में से लुप्त सींख्या का चयन कीजजए।

36 6 9 15

88 11 9 ?

120 ? 6 18 (A) 54,41

(B) 17,82

(C) 17,10

(D)  96,13



Reasoning Mock Test For Railway Exams
In a row where all are facing north, Priya is 15th from the left end

and Garima is 19th from the right end. They interchange their

positions, and Ram who sits 24th from the left end sits at the 5th

place to the left of Priya's new position. How many persons were

there in the row?

एक िींजक्त में जहाीं सभी उत्तर की ओर उन्मुख हैं, पप्रया बाएीं छोर
से 15िें स्थान िर है और गररमा दाएीं छोर से 19िें स्थान िर है। िे
अिने स्थान आिस में बदल लेते हैं, और राम जो बाएीं छोर से 24िें
स्थान िर बैठा है, पप्रया के नए स्थान के बाएीं से 5िें स्थान िर बैठा
है। िींजक्त में ककतने व्यजक्त थे?

(A) 36

(B) 42

(C) 47

(D) 56

(E) None



Reasoning Mock Test For Railway Exams
Which Pair does NOT belong with the others?

कौन सा जोडा दसूरों से संबंधित नह ं है?
(A) 140 – 45

(B) 110 – 35

(C) 100 – 30

(D)   80 – 25



Reasoning Mock Test For Railway Exams
Point Q is 12 m north of point V. Point K is exactly in 

the middle of the points Q and V. Point W is 8 m east of 

point V. Point U is 7 m east of point K. Point P is 9 m 

north of point U.

बब ींद ुQ, बब ींद ुV के 12 मीटर उत्तर में है। बबींदु K, बब ींद ुQ 

और V के ठीक मध्य में है। बब ींद ुW, बब ींद ुV के 8 मीटर िूिि 
में है। बब ींद ुU, बब ींद ुK के 7 मीटर िूिि में है। बब ींद ुP, बब ींद ुU

के 9 मीटर उत्तर में है।
What is the shortest distance between point K and W?

बब ींद ुK और W के मध्य न्यूनतम दरू  ककतनी है?
(A) 9 m

(B) 10 m

(C) 11 m

(D) 12 m



Reasoning Mock Test For Railway Exams
Statementकथन
"To keep myself up-to-date, I always listen to 9.00 p.m. 

news on radio."- A candidate tells the interview board.

"खुद को अि-टू-डटे रखने के र्लए, मैं हमेशा रात 9 बजे रेडडयो 
िर समाचार सुनता हूीं।" - एक उम्मीदिार साक्षात्कार बोडि को 
बताता है।
Assumptionsमान्यताओीं
I. The candidate does not read newspaper.

उम्मीदिार अखबार नह ीं िढ़ता है।
II. Recent news is broadcast only on radio.

हाल के समाचार केिल रेडडयो िर प्रसाररत होते हैं।



Reasoning Mock Test For Railway Exams
Which Answer Figure will complete the pattern in the figure?

कौन सी उत्तर आकर तत आकर तत के िैटनि को िूरा करेगी? (A)

(A)

(C) (D)

(B)



Reasoning Mock Test For Railway Exams
Three of the following four number-pairs are

alike in a certain way and one is different.

Identify the different one.

तनम्नर्लखखत चार सींख्या युग्मों में से तीन एक
तनजश्चत तर के से एक समान हैं और एक अलग है।
पिषम सींख्या युग्म का चयन करें।

(A) 25: 65

(B) 28: 82

(C) 62: 26

(D) 46: 64



Reasoning Mock Test For Railway Exams
Statements कथन

Some hours are minutes.

कुछ घंटे मिनट हैं।

All clocks are minutes.

सभी घम़िय ं मिनट हैं।

No minute is second.
कोई मिनट सेकें ड नहीं है.

Conclusionsमनष्कर्ष

I. Some hours are clocks.

कुछ घंटे घम़िय ं हैं।

II. All seconds being clocks is a possibility.

सभी सेकंड के घ़िी होने की संभ वन है।

III. No hour is a clocks.

कोई घंट घ़िी नहीं है।



Reasoning Mock Test For Railway Exams
Select the correct alternative to indicate the 

arrangement of the following words in a logical 

and meaningful order.

तनम्नर्लखखत शब्दों को एक ताककि क और साथिक क्रम में 
व्यिजस्थत करें।
1. Childhood बचिन
2. Adulthood ियस्कता
3. Infancy बालिन
4. Old age बुढ़ािा
5. Adolescence ककशोरािस्था

(A) 5, 1, 3, 2, 4

(B) 3, 1, 5, 2, 4

(C) 5, 4, 3, 2, 1

(D) 2, 1, 5, 3, 4



Reasoning Mock Test For Railway Exams
Chirag's birthday is on Thursday 1st June. On what 

day of the week will be  Rayan’s Birthday in the 

same year if Rayan’s was born on 3rd December?

गुरुिार 1 जून को धचराग का जन्मददन है। उसी िषि 
रेयान का जन्मददन सप्ताह के ककस ददन होगा यदद 
रेयान का जन्म 3 ददसींबर को हुआ था?

(A) Wednesday 

(B) Sunday 

(C) Friday 

(D) Saturday 



Reasoning Mock Test For Railway Exams
Which two signs should be interchanged to make

the given equation correct?

तनम् नर्लखखत में से कौंनसे दो धचन्हों को िरस् िर
बदलने से ददया गया समीकरण सह होगा।

𝟏𝟓 ÷ 𝟏𝟓 × 𝟏𝟎 − 𝟏𝟎 + 𝟓 = 𝟏𝟓

(A) ÷ and –

(B) ÷ and ×

(C) × and –

(D) + and –



Reasoning Mock Test For Railway Exams
Select the Venn diagram that represents the correct relationship between the

following classes.

ददए गए पिकल्िों में से उस िेन-आरेख को चुनें जो तनम्नर्लखखत िगों के बीच सींबींिों
को सबसे अच्छी तरह प्रदर्शित करता है.

Teachers, Singers, Mothers

र्शक्षक, गायक, माता



Reasoning Mock Test For Railway Exams
Statementकथन
India has been continuously experiencing military threats from

its neighbouring countries.

भारत को अिने िड़ोसी देशों से लगातार सैन्य खतरों का सामना 
करना िड़ रहा है।
Courses of action कायििाई के दौरान
I. India should engage into an all out war to stop the nagging

threats.

भयािह खतरों को रोकने के र्लए भारत को एक चौतरिा युद्ध में शार्मल
होना चादहए।
II. India should get the neighbours into a serious dialogue to 

reduce the tension at its borders

भारत को अिनी सीमाओीं िर तनाि कम करने के र्लए िड़ोर्सयों से 
गींभीर बातचीत करनी चादहए।



Reasoning Mock Test For Railway Exams
P, Q, R, S, T, V, W and Z are sitting around a circle facing 

the centre. T is 2nd to the right of R who is 3rd to the right 

of P. S is 2nd to the left of P and 4th to the right of Q. Z is 3rd

to the right of V who is not an immediate neighbour of P.

P, Q, R, S, T, V, W और Z एक िरत्त के चारों ओर कें द्र की ओर 
मुख करके बैठे हैं। T, R के दायें से दसूरे स्थान िर है जो P के 
दायें से तीसरे स्थान िर है। S, P के बायें से दसूरे स्थान िर 
और Q के दायें से चौथे स्थान िर है। Z, V के दायें से तीसरे 
स्थान िर है जो P का तनकटतम िडोसी नह ीं है।
Who is second to the right of T?

T के दायें से दसूरे स्थान िर कौन है? (A) S

(B) Z

(C) P

(D) R



Reasoning Mock Test For Railway Exams
Select a figure in which the Question Figure is hidden.

उस आकर तत का चयन करें जजसमें प्रश्न आकर तत तछिी हुई है। (A)

(A)

(C)

(B)

(D)



Reasoning Mock Test For Railway Exams
Which number in the given series is Incorrect?

दी गई श्रृंखला में कौन सी सृंख्या गलत है?

3, 7, 15, 27, 53, 63

(A) 53

(B) 63

(C) 27

(D) 7



Reasoning Mock Test For Railway Exams
Statements कथन

All tubes are cubes.

सभी ट्यूब क्यूब हैं।
No cube is sky.

कोई क्यूब स्काई नह ीं है।
No bird is sky.

कोई बडि स्काई नह ीं है।
Conclusions तनष्कषि
I. No tube is bird.

कोई ट्यूब बडि नह ीं है।
II. All birds being cubes is a possibility.

सभी बर्डिस के क्यूब होने की सींभािना है।



Reasoning Mock Test For Railway Exams
In a code language, 54831 is coded as 63922.

What will be the code for 86274 in that

language?

एक तनजश्चत कूट भाषा में '54831' को ‘63922'

के रूि में कोडडत ककया गया है, तो उसी कूट
भाषा में '86274 ' को कैसे कोड ककया जायेगा?

(A) 75365

(B) 77185

(C) 95365

(D) 95185
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